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Q1. Consider the following statements with respect to Healthcare statistics:

1. Health subject comes under the State list.

2. The health expenditure in India is completely borne by states.

3. Around 50% of the population in India is covered by health insurance.

4. Healthcare expenditure in India is likely to achieve the target of 5% of GDP as set in the National Health

Policy 2017 in 2022-2023.
Which of the statement/s given above is/are correct?

a) 1 only

b) 1 and 2 only

c) 2 and 3 only

d) All of the above

+ Show

Answer

Q2. Consider the following statements:

1. As per a study conducted by government think-tank NITI Aayog and Institute for Competitiveness.

India’s spending on research and development (R&D) is among the lowest in the world.

2. However R&D investment in India has increased as % of GDP continuously in the last decade.

Which of the statement/s given above is/are incorrect?

a) 1 only

b) 2 only
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c) Both 1 and 2

d) Neither 1 nor 2+ Show

Answer

Q3. Consider the following statements:

1. Since its inception, the National Commission for Backward Classes (NCBC) has been a constitutional

body.

2. Article 340 empowers the President of India to appoint a commission to investigate issues concerning

backward classes.

3. Rohini Commission is constituted under article 340 of the Indian constitution to check on the issue of

Sub Categorization within Other Backward Classes (OBCs).Which of the statement given above is/are correct?

a) 1 and 2 only

b) 2 and 3 only

c) 1 and 3 only

d) 1, 2 and 3

+ Show

Answer

Q4. Consider the following statements about (Mahatma Gandhi National Rural Employment

Guarantee Scheme) MGNREGA:
1. The beneficiary must be a Citizen of India.

2. At least one-fourth of beneficiaries should be women.

3. The job seeker has completed 18 years of age at the time of application.

Which of the above statements is/are correct?

a) 1 and 2 only

b) 2 and 3 only

c) 1,2 and 3

d) 1 and 3 Only

+ Show

Answer

Q5. Consider the following statements regarding the Insolvency and Bankruptcy Code (IBC), 2016 -

1. The insolvency and Bankruptcy Board of India is the regulatory Authority for this code.

2. This code deals with partnership firms, limited liability partnerships (LLP) and companies but not with

individuals.
Choose the correct option.

a) Both 1 and 2

b) 1 only

c) 2 only

d) Neither 1 nor 2

+ Show

Answer
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